[ Efficiency vs vertpos |
0.5
7% SR N O R S

tr

................................................

I
~
|

TS SRSSSR F S S—

efficiency vs

o
w
|

................................................

115 EURURPTR SO ERRS e o
0.2F---emees e R Feeeeeeeeen e
T e e R e SRR

005—++ ------------ S A

] ] b ]
PENEPRTITY BRI TTTT B SPETTTT BT

o
e
T

Ratio

||||T|||| TTTT
+
+
ki
+
+

o
©
a

107 1

=
2
N

10 0?
TP vertr (cn%)

—— DQM_old

Tici —e— DQM_wrong
Efficiend _._ bom vo0o1_R000000001_ Global__CMSSW_X_Y_Z_ RECO

N 0.2

R A AR S S B

» F : : : : :

e L S SR SR

> r : : : : :

< E . PR U PO S e

.0_)0'14: : : : : :

£ 0,12 b

o F : : : : :
O SRR & Bol & S URIN S
7 RN SN 1 O s
0.06F - """ """" """"

008 g L
Y. S RS T N N

1.0

Ratio

e
TTTT [T
4
3
i+
+

093~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2

D S S S A SU SO

RS b SR AR A
Eqaab i i i ioionon
7 S
e R S
P A S A

R e S s T
O R Bl 1 I (R
0.08F b fiondon i b L

0.08f+eehees oo
0.04F bl g T
107 SR T

effic

Bo8 6 4 20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


